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@ 551,000k DS oM
@) 551,000 A £ 1,619,000/ 5 i IRA£%E - 550,000
® 1,619,000MLL £ 1,620,000 K i 1,069,000
@  1,620,000MLLE 1,622,000/ 5 i 1,070,000
®  1,622,000M L Lt 1,624,000 K i 1,072,000
® 1,624,000 L E 1,628,000 5 i 1,074,000
@ 1,628,000 Ll L 1,800,000 F K i IRAEZE -4 (FAKRBYIYEET) X24 + 100,000
1,800,000 &4 £ 3,600,000 i IRA£EE -4 (FHAKRBETIYIET) x2.8 - 80,000
©®  3,600,000MLL L 6,600,000 & i IRAEZE -4 (FAKRBYIYIET) X3.2 - 440,000
6,600,000/ L1 £ 8,500,000 ki IRA£% x 09 - 1,100,000/
@  8500,000MLLE URA£E - 1,950,000M
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<HBE5RALEOEEHE> <HB5mBEEE>
D 651,000Ki# DIHFE& oM
@) 651,000 L4 £ 1,619,000 ki IRA &% - 650,000
® 1,619,000 E 1,620,000 F9 5k i 969,000M
@ 1,620,000 L1 E 1,622,000 K i 970,000
® 1,622,000 E 1,624,000 5k i 972,000M
® 1,624,000 Ll E 1,628,000 K i 974,000
@ 1628000 LLE 1,800,000/ 5 i IRASEE - 4(TFHRBVIVIET) x 24
1,800,000 L4 £ 3,600,000 5 i IRAZEE 4 (FAXRBTIYIET) x2.8 - 180,000
©@ 3,600,000 L E 6,600,000 k5% IRA €%+ 4(FAKRBIIYIET) x3.2 - 540,000
6,600,000/ L1 £ 10,000,000/ 3K ji5 IRA#£% x 09 - 1,200,000M
@ 10,000,000 Ll E URA£% - 2,200,000M
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